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1. In the diagram, AD is the tangent line of the
circle and ABC is the secant line. If AB=4cm &
BC = 5 cm, then the length of AD is
c

B

(A) None of these (8) 7cm
(D) 8 cm

2. The largest number by which on dividing the
numbers 1356, 1868, 2764, the remainder is 12
in all cases :

{A) None of these

3. There are six bells which rings at the interval of
2, 4, 6, 8 10 and 12 minutes. All the six bells
rung together at 800 a.m. Find out the time

when they will ring again together
(8) 1:00 p.m

(€) 11:00 a.m (D) None of these

(B) 68
(D) 70

4. The co-ordinates of angular point of a triangle
ABC are A(0, 1), B(2, 0) and C{-1, -2). Find the
equation of side AB of the triangle..

(A) x-2y=1 {B) x +3y =1
() x+2y=2 (D) x+y=2

5. The value of

1 |

cot 18° | cot72°-cos°22° + —
tan72°-sec” 68°)

(8) 0

(A) 2
(€) None of these
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6. If {(m- 2) is a factor of equation
m- — 5m + k_then the value of k is
(a) 8 (8) 9
{© 11
r i .
If 2 3 then the wvalue of
x=2 +2 +2

x* —6x* +6xis

{B) None of these
€)1 (D) O

8. Volume of a perpendicular circular cone A is
thrice the volume of perpendicular circular cone
B, The height of cone B is the thrice of height of
cone A. The ratio of radius of A to radius of B is

(A) 2:1
() 3:2 (D) 2:3

9. The equation of a line parallel to x-axis and

passing through a distance of b is
(A)y=h (B} None of these

© x=b D) y =x

10. sin (A + B) . sin (A - B) is equal to

(A) . (B} Nore of these

(€

a bl - i ] -
sm-A+cos B sin“A+cos” A

11. The equation of locus of points whose distance
from x-axis is n times of its distance from y-axis.

(8) y+nx=0

(C} None of these {D) x = ny

IfA={1,3,9,10, 21}, B={4,6,8, 10}and C = {1,
2,3,4,5,6, 7, 8,9, 10} then the value of An (B

C)is
(A) {2, 10} (B) {8, 10}
(C) {10} {D) None of these

6.

10.

-afg A = {1, 3, 9, 10, 21},

k & g a9 & foIT (m - 2) @i
mz—Sm-i-kEﬂWg?

(Als {519
19

1 2
uﬁ{_r=2§+3: +2.?Fd X7 = 6x" + 6x
Sl _HE €
A 3| R R i
€ 4 (D](]
TS o giiaR WAWW@W.
FSR Y% B & SgaT & AT A ¥
Tp B W A A B e A T R
W
© 3:2 D 2:3

W 2, B IHH

m. ) 3 ¥ B Tl
(q X = b ID) y =y

sin (A + B). sin (A - B) @I M NN
2

|lAl sin “A —sin B B ¥ ¥ B
" sin°A+cos°B & sin’A +cos’A
il T A5 7 & iieRn REst
?}Iﬁ oy g #n TR

(A) y + nx = 0 (B) y = nx

© 8 ¥ 318 T 0 x = ny
‘ B = {4, 6, 8
10}y 3R C={1, 2 3,4, 5 6, 7, 8 9,

10}, @1 An(BnC) &1 419 &
(A {2, 10} (8) {8, 10}
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13. sin 75° —sin13°
The value of is
cos75° +cosl5°

8} 1

(Al None of these

(€ (D)

NE]

14. A flag pole is fitted in the wall. The angle of
elevation of flag pole ends made by a person
standing on the other side of a 40 m wide road
is 60° and 45° respectively. The length (height)

of flag pole is
(A) 30 m

(© 40(-/3 +1)m

{B) None of these
) 40(/3 -1)m

15. The value of x in the given diagram is
A
X
,ér' 120°
2 C D
(A) 120° {B) pone of these

16. The radius of a circleis  ~/2 cm and it is divided

() 60°

in two parts by a chord of 2 cm. The value of the
angle of larger segment is

{A) None of these {B) 15°
@ 30°

13.

15

sin 75° —sin15°

e = H AE §
c0s75° +cosl5°
W R P A B ]
© 2 © /3

2R ¥ Rea te wueus 3 RN wd S

B 40 A, A ¥$F T qEN AR WS S

afd g1 @Y W SEEE B
HEIE  60° Ud  45° € | EVEUS B HAS
() & _

(A 30 m (B) T W By Tl

© 40(3+1)m [® 40(3-1)m

mﬁxmqﬁﬂﬂ@

@ 30°
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17. ABCDEF is a equilateral hexagon. It's each side
is a, then AC is equal to

B D
E C
g
a
A a —--1-3/
(A AC=./31 {B) None of these
() 2 (D) a
AC=——a AC= ~-
3 /3

18 A car driver cover the first 100 km at a speed of
50 km/hour and other 120 km at a speed of 40
km/hour. If he moves with his average speed by
which he travelled 220 km, then the time

required for further travelling of 242 km is

CYRS | B _1
6—hour :  7=hour

2 2

{©) None of these {D) 1
SEhour

9. If the population of a city is increasing at rate of
10% per year. At present the city population is
13310. What was the population of city 3 years
earlier ?

{A) 11,500 (B} 11,000
(C) 10,000 (D) None of these

17.

18.

ABCDEF ¢ 9dvycHy 2, e was
Yol @ & | @l Yo AC &t o Tg &

E D

i c
g
Aee— a —B
{A) AC =-3a () 579 @ BI§ Al
(c) 2 (D) a
f\C = ——4a AC =
VL /3

fFil/EeT & o1d ¥ ST § 99T AT 120
el 40 ffiraer & 910 A ST € 1 39
de #1220 fodt amEm o S NG 9 €
SUR SR 242 fEA B g 97 R @
9o oo 9|9 onm 2
) ] e (8) -

6= 7

2 2
© 37 ¥ g 7 (D) S] e

=

Ife B0 wr & ST 10% gfa 99 @y
WU d¢ @& & W3 af qd e @t
S feaa A, afe gdam s
13310 B qr ?

(A) 11,500 (B) 11,000
@ O) g9 ¥ $Ig &l
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20. |n the given diagram £ PQR =90 °. Point O is
the centroid of APQR and PQ =5 cm, QR = 12
cm. The value of OQ is

P
M
Q R
a 2 {B) None of these
4—cm
3
() 1 oy 1
4-cm S-cm
3

21. The area of two similar triangles are 9 sq.m and
36 sq.m respectively. If the height of one
triangle is 24 m, then the height of the other
one is

(A) 58 m

22,

(B) None of these
{D) 38 m

A shopkeeper offered a discount of ¥ 32 on the
printed price of a watch and earned & profit of
15%, if the purchase price of the watch is ¥ 320.
If he sell at printed price, what would be the
percentage profit ?

(A) 20% {8} 30%
(D) Mone of these

23. If cosec 8 + cot 8 = m, then the value of cos 8 is

{A) 2 {8) None of these
m -1
m +1
(© - (D) 3
s m -1
m® -1 m’ +1

0. Gy ™ 7 ¥ LPQR = 9
APQR &1 H=® & a9 PQ
=12 9%, @ 0Q &1 79

5

n o

P

21. g TS Sl & AF%d PEE g 47 A
dr s | e @ B F SaE 24 A
e, @ [ S @1 Sarg 8

(A) 58 T (8) T O HI$ &l
(©) 38 .

2 UF g9 B Afbd o ¥ T 32 g AN

999 W gHFEER $ 15% o™ 8al & | Il
TS HA Hod T 320 B, A1 dfPd @ W

997 ¥ fHay ufvem a9 8 2

(A) 20% (8) 30%
D) T8 | IS T8

2. 9f& cosec o+ cot 8= m, 99 cos g Bl

bl i

(A) 2 (B) 7% ¥ P T
m -1
m +1

C 2 (D) 3

& m +1 m -1
m’ -1 m’ +1
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24 |If the average of seven consecutive even
numbers is 62, then the one fourth of twice of
total of first and sixth number is

(A) None of these (B) 60
(D) 62

25. A box contains length 10 m, width 6 m and
height 4 m. How many cubes of volume 15 cu.m

can accommodate in the box ?

(A) 12 (B) 14
(€) 16 (D) 10

26. In what proportion we should mix the tea of T
150 per kg and ¥ 200 per kg to bring the price of

mixture to ¥ 165 per kg ?

(A)5:7 (B) None of these
©)3:7

27. The points A, B, C, D on a circle are in such a
way that they form a square ABCD. If the area of

circle is 3850 sq.m, then the area of square

would be
D &
A B
(A) Naone of these (B} 4250 m:
© : ™ 3 s
2450 m- 2540 m-

28. If the median of 59, 62, 65,x, x + 2, 72, 85 and
94 is 69, then the value of x is

(A) None of these (B) 69

(D) 67

SR[E &1 IS W 8
(A 39 o +13 = (B 60
©) 62
% UH qR Bl dHEly 10 AL, s 6 AL Ud
Sals 4 W T | g0 § 15 °H Hle¥ Inadq
i fpas o9 @ <1 Fod € 2
(Al 12 (B) 14
© 16 (D} 10
6. ¥ 150 wfa feem i ¥ 200 wia fum areft
g @ &g o # a9 s
fsor &1 qed T 165 Wi 6 & 9 2
(Al 5 : 7 (B T | HIs =@l
C 7 :3 D) 3 : 7
7. U6 g W IR A5 A, B, C, D 39 ¥R
£ d vF af ABCD 991 T | 9 &1
gA%d 3850 97 A, B, @7 9 & HFBA ©
T .Y
A B
(A) 3 § B & (B) 4250 7 AL
[© 2450 af @[ (@ 2540 o .

28 gfe JfHel 59, 62, 65, X, X + 2, 72, 85
[ 94 ! HIfLHT 69 B, d X & AF ©
) 39 U @15 TE (B) 69

(C) 68 (b) 67

g
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29 NX'm

If x®=m",then the value of (l J is
m,

(A) ¥ (B) None of these

(D)

30. Pipe ho. 1 can fill the tank in 5 hours and pipe

no. 2 in 10 hours. Pipe no. 3 can drain the water

and make empty in 71hours. If all the three
P,

pipes are open all together then the time

required for filling the tank completely would be

(A} 16 hours (B) None of these
(€) 6 hours (D) 10 hours
31. The least number by which either on

multiplying or dividing the number 19404 will
become complete square is

(8) 13
€7 (D) None of these
32. The value of
g 100
\,_{_8 & Q;IOO «3T75 is
J16 V49
(A) 4 6 (6} 7
g 20
() ; 3 (D) None of thesc
4

0. UH T TP P! Bl 5 €S ¥ W AP T
T GO A I 10 € F W GHaAT &

b
qEHar & | Ay 9 B o a g 9
P B WA F o gl IHT whl
(A) 16 He (B) 399 ¥ BIs el
© ¢ e (D) 10 Te
3. g8 VI A VIS G, e gRT 19404
P IO IT UM B W I8 (@ QOf a1 q9
W, &
A) ¢ (B) 13
© 7 O T ¥ BE T
2, iR, 100 .,
-—:|—x'2..
76 Vag = V1P
P OANE B
W 6 ® 7
g 20
(© 13 ) T 3 PE TE
4
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33, 33 3

One of the angle of a triangle is3—g and the s BIYys &1 e I % 2, U B
l 5

other one is 66° , then the third angle in radian 66° 2, dl TR BT & HY (ST F Bnft
is w ® x
(A) o (B) g = 5

> 3 o :

: - © g T PE T O g
(€} None of these (D) g 2

4

3. The ends of a triangle are (4, 6), (2,-2) and (0, | % U® f3qsr & ¥ (4, 6), (2, -2) TG (0, 2)
2).The co-ordinate of its centroid is T 3P g & MouP ©
(4) (2,3) (8) (2,1) (A (2, 3) B) (2, 1)

{a (3,2) (D) (2, 2) 9 3, 2) (D) (2, 2)

35 In the group of 240 students, 200 opts for |35 240 fEnfa} & QT‘§ H 200 gfERT od %
history and 90 opts for Geography. If 20| qT 90 dd € | afx 20 fdeml JE
students do not opt for History as well as H 9 favg & o9, o frawr faemef
Geography, then how many students opt for TE fwg o § 2
both the subjects i.e. History and Geography (a) a9
both ? : :

: (© (D) kil
i 170 T q PIS TRI
(€ 170 (D) None of these

36 The purchase value of 4 items are equal to sales | 3. gl 4 H}T-gﬁ F HY HW, 3 TG B
value of 3 items. The % profit is fapa qor & 999T B,_A1_omv_gRieE B
(A) 1. | 1 (A) 1 . (B) -

115?-5 33-7% llg% :3}99

3 .
(@ 2. . (D] | (0 v (D) 1
66=" 9--% 66— % 9—%

3 11 3 11
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37. In A ACD, £ ABC > 90° and AD is perpendicular
ta CB, then the value of A(C? is

B C
AB?+BC? -2BC.CD

(B) 2 2
AB° +BD"+2BC-CD

@ AB? +BC?+2BC-CD

{D) None of these

The LCM and HCF of polynomial P(x) and

Qx) are  s6(x*+x) ad  A(xP_x+1)

respectively. if the polynomial

P(x) =28(x* +1) then Q(x) =?
IA] ‘B}

8x(x* —x+1) 4x(x —x+1)
(€ N f th D >
one of these (D) A1)
39. The value of
J2-J12- 2=
{A) 12 (B) 4
(© 6
40. Five years earlier Ram was three times older

than Shyam. The age of Ram will twice the age
of Shyam after 10 years. The present age of Ram
and Shyam is

(A) 35 years & 15 years (B) Nane of these

[ (&) 50 years & 20 years|(D) 30 years & 10 years

a7 gf& AACD #, £ABC > 90° iR AD o™
® CB W, @ pc?® 1 A1 8

A

Ly
D B C
(A) 2 2

AB° +BC* -2BC-CD

(8) 3 2
AB“+BD" +2BC-CD

(c 2 2
AB“+BC*° +2BC-CD

R
B.qguE Py) W
HY., PHHI:

Q) ¥ ¥ W
56(x* +x) o
4(x* -x+1yF | TR
oA Q) = ?

(A)

P(x) =28(x" +1)

(8

Bx(x” —x+1) Ax(x” —x+1)

© ¥ 4 B T 0

6x(x” +x-1)

® - Jn-n="
FT AN R
(Al 12 (B) 4
© 6 (D) g
5 9§ g M B FY WH I IG AN 3
T o 7ar 10 9§ q@ W A aH
B g B 2 TH AN | IW @ W @
e Iy @
(A 35 3%, 15 (B) T @ P 7
[(© 50 af, 20 qf| (© 30 af, 10 af
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41. If the length of a perpendicular drawn from the
origin on a line is p and perpendicular is making
an angle a from the x-axis. The equation of this
line is
(A) xcosa+ysina=-p(B) xsina+ycosa=p

(C) xcosa+ysina=p|{D) ax+by+p=0

42. A wire of diameter 10 mm is drawn by melting

the sphere of radius 9 cm. The length of wire

would be
(A) 38.88 m {B) 38.88 cm
(€) 77.76 m (D) 77.76 cm

43. There are 80% male employees in a factory, 20%
male employees are metric and rest graduate.
The total number of female employees are 600,
out of which 25% are metric and rest graduate.
The total number of graduate employees in the
factory are

(A) 2430
(C} None of these

{B) 2730

Three non-zero number m, n, p will be in
continued proportion, if

44,

(A) 3 {8} None of these
n- =mp
(9] 5 o)
m- =np p’ =mn
45 ‘f_’) ab
The value of logI : +Iog1”b logm

is
(A) 2

If the total of two numbers is 25 and

multiplication is 144, then their difference is
(8} 5

€6 (o] 4

{B) None of these
(D) 1

46. its

All the questions are solved carefully, if there would be any error Shakti Coaching will not be responsible

41, ﬁﬂﬂ%@ﬂﬂaﬁﬁfrw
THTE p 9T a9 x-34& W q
q9 39 4 BT gHieRT &
(Al x cos @+ y sin a= —p
(B) x sin a+ y cos a= p
[©© x cos ¢+ y'sin a= p]
(D) ax + by +p =

2. Up B Mo @ ga®s 10 3 @ &
AR e T & | el & B 9 W B
dl IR _# q=E 8l
©) 68 A
(© 77.76 #. (®) 77.76 |.H.

3. gp thadl d 80% YO¥ HHAN & R W
20% ¥few 9 9w g | Ay aAfen
HHAN 25% Hicd d qour Afgel
SHHAINA] B =T 600 B, A1 Bad A FA
fra= A9ue ® 2
{A) 2430 (B) 2730

@ i % 0 8t [0 2570

4. w & m, n, p R{aq guEa #
A B
il =y B T T B T
(© i (D) :
m- =np p' =mn
45. be ab
Ioglo-a +logwb——logw-—_‘ib‘r A9 &
(A 2 (B) T & BIg 7
© 1

4 gfe I TRt HT AT 25 UF  SHDI

PHAGA 144 B, Al S FE&RI F FR
1B 2

(AlTI (8) 5

€ 6 (D) 4
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47. On reduction of potato price by 25%, a person

purchase 71kg of potato more in ¥ 360. What
2

4

is the actual price of per kg of potato ?

(A) T 14/kg (B) T 16/kg
(€) T12/kg (D) None of these

48. Points (0, 5), (5, 0) and (2, 2) form a triangle

which is

(A) Right angle
(C) None of these (D) Equilateral

49. The factors of equation
xHL%—Sx—gB

‘A‘ N 4 N
\+—] (x—-l-+2) x-l-*fl,
Xi X X F % > S
(8) 74 y
\-—l'lx—l+2} !\—i—zl
. xJU x ) U A )
(c] 3 %K A
r+1J(x+l—2!1r—1—2‘
o) o X ), 1\ ~y .
(D) 1 \ f' 1 1 N\
1+~J’x——+2}‘r+7—2J

1‘ .

50. If points (1, 2), (x, - 1} and (4, 5) are collinear,
then the value of x is
® 2
(€ -1 (D) 1

47.

48.

49.

A H T 25% HE WM W TP Afed T
360 § 71 fom s afe wlewm @ |
3

P qR<fD &
A e e
(© I 12/fFmm o) T ¥ P T
?ﬁﬁ(ﬂ5hﬁ,mqﬁu,aﬁfmﬂﬁma
(A) AT (8) HEeTg
© 9 ¥ By &
(0) gHaTg

50.

A) [ W / \
”(x-i—l)[x——+2\] lx—l—EE
\ X \ X ¥, X /-}
B \ 7 N \
» \—1][1—»1--1-2’ (r-—l—l)
X/ ¥ £ J
(C) : .-“ 3 \\ i ‘v‘
\*+l| I r+—1-—2'; ;x*l—li
\ X/ \ X / \ X /
(o) 7 1\ / ! .\ { 1
.\'+—] fx——+2] l.\'«i—ﬁ-—"]
v XrL X ) E

afy g 1, 2), (x. -1) W@ (4, 5) GG §,

A x-bT 99 &
(A) - (B) 2
© _ (D) 4
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SECTION =11
PHYSICS

51. The time period of seconds pendulum on a

th
luf

9

planet where gravitation acceleration is

gravitational acceleration of earth

{a) 9 secands (B} 1

9 second

(D) 6 seconds

- _second
g |
52. |If the force is increase four times and surface
area is decreased to half, then the ratic of final
pressure to initial pressure would be
(A) 1:2 i) 1:8

@2:1

Two bodies of masses ml . mzat the distance of

r, exert a gravitational forge F on each other. The

, g Gm,.m, N
F is defined asF=———= where G is a
2
constant. The value of G depends upon
{A) On the unit system and Medium between

the masses (bodies) both
|IBJ On the unit system |

{C) Not depends on the unit system and
Medium between the masses (bodies)

(D} Medium between the masses (bodies)
& student reached his school by moving first 1

km to east, then 3 km to south and finally 4 km
to west. The direct distance of his school from

his house is
A 2. /2km (B) 8 km
©@ 3./2km ©) /10km
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e
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55 Main scale of a microscope is divided in the |55 U& Y&Agdl @I &4 A & 0.5 ot &
parts of 0.5 mm. If 50 parts of Vernier's scale gy ¥ fawem o mar € |
match with the 49 parts of main scale, the least F 50 W Y& AU & 49 N F WY

count of its is ffird § | A9 B rIaHe ©
(B) 0.05 cm (A) 0.001 . (8) 0.05 L.
(C) 0.002 cm (D) 0.005 cm (© 0.002 . (D) 0.005 W

56. If the angle between two plane mirror is 60° , |56. gfe S THdal YUl & &9 HT BT 60 ° &,
then the number of images made of an object A 9% 9 @ g b ufafeEl Bt wE

situated in between the mirrors

B
w7 o 7
(© 9 (D) None of these © g (D) g7 X B Tl

s7. Two objects are dropped together from the|s”. @ a&qih,dh.Hamdl ¥ Td A B
height h, and h,. The ratio of time taken by fE | s 6 e s 5

them to reach the earth is Eal GTTﬂifjg

(A) !'F L (A) ;'h (8) by
Vhy h, by h,

@ §, : (D) ‘JE (€ h, (D) |'E
}.‘11 ‘V T{; }.\1 .ll'j ‘[1 2

58. If a rigid body is travelling distance in|58. Q& 'q-f%p:n:[ v | &
proportional to the square of time, then the H gRAT 79 & W T O fvg &7 v ©
acceleration of this rigid body is (A 3= B gg =TI

(A) Zero (B} Increasing © we @ el W
(C) Decreasing

59. A motor cycle is moving with an acceleration of | 55. Y& HArexaEfed HT @RI 8 T?[I;;_;fi g1 A

8m 5= If we touch-on a same type of non- .QEF R & e m e a8
g @ 9T, I IUHT @O BAT

moving motorcycle with it, then the

acceleration will be (A) W kil ﬁ'é T (8 8 -m-,qu
A B *
(A) None of these (B) % ms? © 2 ﬁh\&: 0 2 ﬁTI.—gf
(© 2m's” o) ims”

60. If error in measuring the radius of a sphere is | 60.

M & o & 71 § Fe 1% 8 @
1%, then the error in calculating the volume of L3k

IR @ oA H AR Bl
sphere would be (A) 59 (B) 14
(A) 5% (B} 1% D) 79

() 7%
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62,

63.

65.

66.

- In Sl system Newton-second is unit of

(A) Momentum (B) Impulse of force

[(€©) Momentum & Impulse of force|
(D) None of these

A big stone is kept in the floating boat. If the
stone is dropped in the water of pond from the
boat, the level of water in the pond

(A) None of these |IB) Decrease (go-down)|

(C) No change (D) Increase (rise-up)

1 kilowatt-hour is equal to

(A) (B) N fth
3.6 x 10° Joule sunsine

(C) 3600 loule (D) 1.0 HP

Momentum of two bodies are equal. If the mass
of bodies are m .m _and kinetic energies are

k,
k,.k. respectively, then the ratio T would be
1
(A 2m, (B m,
m,
2 my
(€ (D)

m,
m-

The pressure measured by barometer at 0 °C is
760 mm. The same pressure at 100 °C would be
(A) 760 mm (B) 730 mm

(C) None of these| (D) 780 mm

There is a difference of 45 °F in the temperature

of two bodies. It's value in celcius scale would
be

(Al 40 °C
(©)

[(B) None of these|

20°C D) 30°C

61.

62.

63.

66.

.M. g § Yerdeve e @
(A gan (8] g1 &1 I

[(© s ¢ 9 &1 ama|

(0) = & B TE

TMed # AR T H TET 99T TR W@ ¥
| If 9@R & 99 § A Sorax dldie |

RRr fear g, O 91" & Sd &1 dd
A 7 ¥ B T8 (B 2 v S|

(© af 2w P) FWR & SRAT

1 fddAare-guer &1 a9 & _
W 1ge WL\ T« iy =l

(@ 3600 e (D) 1.0 HP

QA RgHl & Wem wEE € | AR e
Wml.m:ﬁ T Ao HA HAEIE

u k'r

ky kB, @1 oI g
1

(A) 2m, (B) m,

T m,
(© m, )  2m,

m, _11_11"
0 °C 99 W aR¥He} gRT "7 AT <19
760 A 2 1100 °C 94 W €9 &I AF
B
(A) 760 T 1. (B) 730 ..

[©© 57 & B | © 780 A
a‘raw_r,a’f%mcrﬁ 45°F @1 I ® |

Afcaaw ¥H W g8 =R 8
(A  10°C |IBI ﬁﬁﬁﬁ'ﬁﬂ‘iﬂ

(D)

© 20 30 °C
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67. An electric motor create a tension of 4500 |67. U&p fAvieft &1 Arex U6 qo S8 d Hfad
Newton in a cable on lifting a certain weight and H 4500 -;'%6-1 B T9 IO Bl £ AR
wrapped at a rate of 2 m/s. The power of motor| &0 2 #.A $ e A odled! 2 | Hex

kT

is

(A) 225 kilowatt (8) 9 kilowatt (&) 225 faseirare
(€) 9000 kilowatt (D) 15 kilowatt (© 9000 fhdrare (D) 15 feftare
88. An object start moving from standstill. If the |s8. Ue five faRMIaRem & Fa=1 IR™ &l €
acckleration is lOm-'S:' then the distance | afe @ 10 ﬁfﬁz g, @1 10d THUS H
travelled by the object in 10th second is (IA, S 7T e E:‘Fr & B 5
(8 4050 m 4050 7. [®_es ]
(€) 5000 m (P) 250 m © 5000 . (0] 250
69. Which is not the unit of energy ? 89. Holl &I HFd T8l o
(A) Newton-metre (B) Kilowatt-hour (A) =rEFHieR &) fpeare-der
(@ Joule (© el (0) e
70. The unit of work in CGS is 0. Hrf T GeiTd aEd
(B) Joule Azt (8) et
{C) Newton-metre (D) Horse Power (€ =peiex (D) et digw
7i. if a force F can stop the moving body of massm |71. E&ZAM m & 47T y 9 ﬂ@;ﬁﬂ%ﬁ a&] B F
and velocity u in a distance s, then the force §d & ERT s §0 H U g RG]
required for stopping body of twice mass, TAHM B AN 4 ¥ gdAdt g8 a%q Bl
moving with half velocity in the same distance ga4r Bl ¥ Yied & v angves 99 &
would be (A) F (B) J3E
(A) F B _HAF 5
!
© F o) 2 F
) r D) 2F
72. A weight of 150 kg is hanged at distance of 60|72 1.5 #l, W TH T F Uh X 9 60
cm from one end of 1.5 m long pole. If both the EER: 1 R 150 fFIT &1 4R dedrET T4
8 S

ends of pole are rested on the shoulder of two

w
person, then the weight lifted by both the fed € | S Al gR1 Sor™T TET 4R
persans are

(A)30and 120kg  [(B) 60 and S0 kg] (A) 30 1 120 f&.m.
(c) 100and 50kg (D) 75 kg each [®) 60 Td 90 fm |
(©) 100 wd 50 fa.7m.
() 75 f&.ur. g_e
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73. A force is applied for 20 seconds on a non-|73. 5 M TEMN & five (RM 3R ¥) W
moving body of 5 gms, there is no force UF 9 20 9. F forv ovar & e 99
thereafter. Body stopped after 5 seconds SO w aﬁﬁ' g T8 T 99T 5 ¥, 9¥d
moving a distance of 50 ¢cm. The value of force 50 9.4 #Ft gﬁ TIH TP oI T | g
in Newton is BT AF YT T B
(A) i (a) A (B) _3

0.2 x10 02x10 0.2x10 - 0.2x10
(c -5 (D) _ 3 o] = _3 (D) _ 3
3x10 3x10 5x10 5x10

74. The thermal capacity of a body of mass 100 gms | 7. Jf& f& a8 &1 F&9T 100 I el
and specific heat 0.11 calorie/g °C is fafdre S= 0.1 m;*m:rﬂc B, W SH@
A ie/ = B
(A) 16 calarie/ =¢ |'.' ) None of these Se T 2 ’

(€) 110 calorie/ °c (D) 11 calorie A 16 HaN/ac B) T F B TWI
(©) 110 HAN¢ (D) 11 HAr
75. 75.

The resultant of two forces 13'1 and P: makes an

angle of 90" from the force P: and its

2 del P, 7N P, &1 9Rumll P, ¥ 90° W @
au gl AP & w2 1 P o#

magnitude is equal to magnitude of P: . The ofRET &
magnitude of P; is W E_ (8) m q Eﬁr&" &l
A p (B) None of these 2
72 ®) 3
© .2p {0} Zero
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SECTION =11l
CHEMISTRY

76. On evaporation of 2.72 g of saturated solution

of a substance, we obtained 0.72 g of
precipitate. The solubility of substance would
be

(A) 36 (B) 18

(€ 9 (D) 5

77. The oxidation number of Sulphur in sulphuric

acid H: 804 is

(A) 5
() 4

(D) 7

78. Equivalent weight of sulphuric acid is [Atomic

weight : H=1,5=32, 0 =16]

(€} 80 (D) 39

79. The temperature at which the vapour pressure
of liquid becomes equal to atmospheric
pressure is called
{A) Boiling point

(€) Melting point

{B) Freezing point

(D) Critical temiperature

in which compound covalent bond exist among
the following ?
(A) Magnesium chloride (MgCl,)

(B) Sodium chloride {NaC!)
(€} Calcium Oxide (Ca0)

(D) Ethane (C,Hy)

81. In a sample of hard water, 0.024 gm per lit of

MgSO,and 0.162 gflit of Ca(ch)qis

dissolved. The hardness of water would be

Given : Mol Wt.of MgSO, = 120,CalHCO, ), = 162]

(A) 100 ppm (B) 120 ppm
(C) 20 ppm (D) 12 ppm

All the questions are solved carefully, if there would be any error Shakti Coaching will not be responsible

‘qu'l'_III

[WAA_IA
7. fpeft et & Wqw fReddd § 272 TW &
e ¥ 0.72 UMW H9AT WG wAT & |
yerf &t fadaar
o o
© g ) 5
7 wegRes e H.SO, # wew &t
Sifitexor e &
(A 5 &) 6
€ 4 o) 7

% AEIRE A @ qedidl WX B [IeEI]

HE H =15 =32 0 = 16]

® og
(€ a0 (D) 39

?S-ﬁﬁmwmmwagﬂv@ﬁum
P IUEx B T €, S a9 B HeEd &

© fiw
(O e (0) wif~e a9

2. fpg Tiffes i vewaoe 979 SuRem g 2
W) FIRRT FRES (MgCl,)

B) Wf¥zw FarREs (Nacl)

(€ Hfeaaw sifrEs (Ca0)

®) W (C,H,)

8. gfs FOR T & TS T H 0.024 TH
O o’ MeSO, T 0.162 UH Ui offex

Ca(HCOSI)qgaT €, 99 $ T B R
e

[(Jf\'c‘.'lf1\10]“'.1.01‘:\1\%5()‘,Z]:“.Ca‘;HC()}. ,: = 162J

) 100 ppm
© 20 ppm (D) 12 ppm
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82. Most probable velocity of a gas is defined as 82 9 1 A”Haq wikiGar a1 weftla faar

(A  RT (B) None of these SIS
— A T B T
}}M ”.[ﬁ (B) 3 U BHIS &l
© RT 0 3RT e
. N i c ST s
M VM @ 2RI ®) ]3RT
Y VM
83. Atomic number of carbon is 6. It's group in the | 83. ®d=T &7 HHIP 6 ®, T ad gRul
periodic table is H THBT TE g
(A i W 11
() vi (D) 111 © vI d) 111
¥ The 100 CmSOf a solution is obtained by B 100 3y’ e, f 585 T NaCl &1

dissolving 5.85 g of NaCl in water. The molarity g A i I,

of solution would be (A) (8)
{A) 2 molar (B} 4 molar 2 molar S it

C D
(€ 1 molar (D) 0.5 molar (©) 1 molar (®) 0.5 molar

85 If the electronic distribution of Xis 2,8,3 and Y | 85. ufe foeelt dcd X &1 gieci~e Gy 2,
is 2, 6, then the formula of the compound| 8, 3 8 9 Y & QWID"[H; = 2, 6 @

formed is | 9 dadl & WAF 9 &9 ?ﬂ'ﬁﬁ?ﬁ@?
(A) XY; (B} X:Y:‘ (A) X&' (8) X:&T}_
Q) X (D) XY @ x (D) xy
86. 5 : : S 86. TP
Potassium Ferrocyanide [IMFe{_(.?\) 6]|s type| UCRREH WIS [KJI-e(_(_?\ ) 6]1%1‘6
of salt YHR & 90 § ?
{A) Simple salt (B} Double salt (A) |ET TJ (8) fg& orgur
|{Cl Complex saEtl (D) Acidic salt (C) THY oTau (D) 3edly Aqur
87. An inorganic compound contains Ca = 40%, C = |&7. U JPHEI$ e @t gfrsa a0 § Ca
12%, O = 48%. The empirical farmula of this = 40% C = 12%, O = 48% & | 39 Afs
compound is B HATIIRT I 2
A .
0 (D) - -
CaCO , Ca,CO, N o o ? Ga, 00,
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88.

89,

90.

91.

92,

3.

The formula of water gas is

(A) CO+H2 (8) H:()(Vapour)

B co,+H, © C+H0

The electronic distribution of Mn(25} is

(A) 2,8,8,7 (8) 2,8,13,2
(© 2,8,14,1 (D) 2,8,10,5

The electricity required for the precipitation of
0.01 gm equivalent of A g ions would be

(A) 0.1F (B) 1.0F
(c) 10F (D) 0.01F

In a specific condition following reaction takes
place. In this reaction reducing agent is

S(1)+C1, () = SCL, (1)

(A) (B} None of these

i

Two alpha particles are emitted from an
element whose mass number is 226 and atomic
number 88. What would be the mass number
and atomic number of the element obtained
after emission ?
(A) 218,84

(€) 218,80

(D) S and C 1. both

(B} 218, 82
(D) 214, 82

The atomic number of sulphur is 16 and mass
number 32. The number of electrons and

protonsin §27is

(A) 18, 18 (B) 16, 16
(€) 18, 16 (D) 14, 16

The percentage by weight of metal available on
the earth is maximum for

(B) Fe
(€ si (D) 0

89

80.

92.

a3

94

Sl N & YT ©
&) co+H, B HO (@)
© co,+n, ® C+HO

. Mn(25) & Solagive (A= @
() 2 8 8 7 &) 2, 8, 13, 2 |

© 2, 8, 14, 1 (D) 2 8, 10, 5-
0.01 I TAT® p +ITH BT FERT F

& fog fha faga &t snavasar 2nft 2
(A 01 F (B} 1.0 F

- faRre <umsi ¥ FrefaRad sifyfea 2 &
| 35 sffpar ¥ sars 9ot ®

S(I)+Cl,(g) > SCL, ()
®) 3 F PI$
(D) § ch‘ﬁ

" cl,

© s

226 UUHIY] HR AT 88 URHIY] HHG dIdA
U6 dd ¥ T Jeh P Fwea & a

(A) 218, 84 (B) 218, B2
Q) 218, 80 (D) 214, 82

- IEPY BT TR HHIS 16 AR GRENY] YR
32 ¥ | g2- H golagHl gd WM & &

z
(A) 18, 18 (B) 16, 16
(€ 18, 16 (D) 14, 16

-l W OURlt OF arell argat § feas!
UiI¥EaT 4R & I UR AffeHdd gl & 2
B Fe

© s ® 0o
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95. Rate of diffusion of a gas depends on
(A) Atomicity {B) Specific heat

(Q) Molecular weightl (D) Valency

96.
The pH value of HCl solution is
1000
(A) -5 (B) +3
() +5 (D) -7

97. The full name of B.H.Cis

{A) Benzene Hydrochloride
{B) Benzene Hydroxy Carbonate
(€} Benzene Hydrogen Carbonate

(D) Benzene Hexachloride

A temperature above which a gas cannot
liquefied is called
(A) Liquefaction temperature

(B) Boiling point

{€) Freezing point (D) Critical temperature

th
If radium remains £ of its initial quantity in
4
3160 years, then its half life is

(A) 1580 years {B} 1400 years

(€) 1650 years D} 1730 years

%5 fHl g & faRo 9 e ook ol @

A waepar ® - (B) Rt oW W
(O FUHR W (D) G R
B6. )
M hal e @ pH A &RT
1000 :
“
€ +5 (D)

=7

a7.

BH.C. & ¥ 9% 2

(A) IS ETEQERISE

(B) 4S9 TN BldlNE

© §&9 TR FHIee

[ &5 2wmeaRrEe|

% gz a9 iud SR &R = @1 gfa ==

foar < AHdT, wEdET &
(A) gdtHvor a9 (B) Hagicp

© R [®) wfas Tl

%9. gfg FETH 3160 auf ¥ IJTN URFHE T=T
wlﬁwﬁ.wma&fm%

4
® w00 a§
(© 1650 T (D) 1730 af
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100. Which equation is balanced among the
following :

(A) — + 2+
2Bi0; +4H™ +Mn"" —
2Bi"” + 6H O+3MnO]

® sBiO; + 22H* +Mn*

SBi’” +7H,0+MnO;

9 5Bio; +14H"+2Mn* -

5Bi’” +7H,0+2MnO;

) 6BiO; +12H" +3Mn*" -

6Bi' " +6H,0+3MnO,

100 o 3§ & B |1 WIS Aferd © 2
W 2BiO; +4H" + Mn®" -

2Bi’" + 6H O+3MnO,
® sBio; +22H +Mn*

SBi’~ +7H,0+MnO]

9 sBio; +14H" +2Mn>"

5Bi’” +7H,0+2MnO;

Al 6BiO] +12H" +3Mn*" -

3 -

6Bi" +6H20+3Mn04
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